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Simplification & Approximation Questions With Solution

Directions: What approximate value should come in place of question mark (?) in the below given
guestions?

1. 2 ++1335*24 - 13.96 = 895
A) 1855
B) 2025
C) 1950
D) 2125
E) None

View Answer
Option B
Solution:

\? +36*24 -14=895
V? +850=895
\7=45
X=45*45=2025.

2. (42.03% of 495.04 + 58.02% of 1200) /9 ="
A) 266.7
B) 235.6
C) 284.3
D) 3125
E) None

View Answer
Option C
Solution:
(207+696)/9=284.3.

3. (9117.88 — 8021.85 + 903.92) * 12 = 1500 * ?
A) 15

B) 18

C) 24

D) 22

E) None

View Answer

Option A

Solution:

(9118-8022+904) *12 =1500* ?
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(2000*12 /1500) = X
X=15.

4. {(4/7*15/4) / (35-1.2) }» =7
A) 1.05

B) 0.76

C)1.25

D) 0.87

E) None

View Answer
Option D

Solution:
[(60/28)/2.3]: =x
X={15/16}: ==> 0.87.

5. If x=3.5,y=4.5, then {(y-X) (y-X)/y+x}*xy =?
A)3

B) 2

C)1.85

D) 18

E) None

View Answer
Option B
Solution:
{(1*1)/8*15.75}= x
X=15.75/8=2.

6. (87.65% of 7159.89 — 68.99% of 8939.89) * 6.06 = (?)-
A) 20

B) 24

C) 28

D) 32

E) None

View Answer
Option C

Solution:

(6300 —6168) * 6 =x *
132*6=x:

792= x>

ie x=28.

7. 35 5/7% of 6510 + 77 7/9% of 5886 = 2% of 6126 + 50% of 5638
A) 49.5
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B) 58.35
C)54

D) 66.66
E) None

View Answer

Option D

Solution:

250/7% of 6510 + 700/9 % of 5886 =?% of 6126 + 50% of 5638
2325 + 4578 — 2819 = x/100 *6126 +2819

(4084 *100) /6126 = x

X=66.66.

8. 854.926 — 562.005 — 115.98 = 22.6% of (?)
A) 804

B) 795

C) 826

D) 844

E) None

View Answer

Option A

Solution:

855 - 562 — 116 = 22.6% of x
177 =22/100 * x

X=804.

9. (750/45) 1 11/781 * 114/95 =?
A) 1355
B) 1345
C) 1420
D) 1653
E) None

View Answer

Option C

Solution:

750/45 * 781/11* 114/95
=(10*71*36 )/ 19

=1420.

10.  15.33— 12.94:+ 22.06:— 35.65 = ?
A) 511
B) 504
C) 631
D) 585

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

E) None

View Answer

Option B

Solution:

152-13-+ 22:-35.65 = x
225-169+484-35.65 = x
X=504.

Directions : What will come in place of x in the folloiwng questions

1. 1404+ x + 48 = (5.5% of 300) x 10
A) 18
B) 16
C) 13
D) 14
E) 12

View Answer
Option E

2. 2:x 3 x 1080 + 15 = 6+
A) 6
B) 5
C)7
D) 4
E) 3

View Answer
Option B

Solution:

22X 3 XT2=06

2:x 3F % (2%6) =6
22X 3 X 6= 6

6° x 62 = 6~

66 = B+

3+2 =X

x=5

3. 48% of X — 14 x 9 = 123 + 189 + 3
A) 650
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B) 450
C) 400
D) 250
E) 500

View Answer
Option A

4. 34% of 250 + 1088 + 16 = X
A) 143
B) 178
C) 165
D) 153
E) 138

View Answer
Option D

5, X + 15 + 32% of 450 = 14% of 1500
A) 1080

B) 990

C) 860

D) 900

E) 1020

View Answer
Option B

6. 66% of 450 — 1014 + 13 — x = 14 x 11
A) 65
B) 43
C) 55
D) 52
E) 76

View Answer
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Option A

7. 2(4/5) x5 (5/6) x5 (1/7) =5 (1/4) x x
A1

B) 12

C) 17

D)5

E)8

View Answer

Option E

Solution:

14/5 * 35/6 * 36/7 = 21/4 * x

8. 45% of 280 — 4.5% of 40 = Vx x 276 + 23
A) 144

B) 25

C) 81

D) 64

E) 225

View Answer
Option C

9. (X): — 35% oOf 480 + 64 = 96 x 2 + 48
A) 14
B) 10
C) 12
D) 11
E) 13

View Answer
Option C

10. 36% of 250 + V3884 = x: — 209
A) 19
B) 14
C)21
D) 12
E) 18
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View Answer
Option A

43% of 1400 — 36% of 250 — 18 x 21 = X
A) 153
B) 161
C) 165
D) 161
E) 134

View Answer
Option E

Explanation:

602 —90 - 378 =134

2. (82): — (71): — (34): = X
A) 376
B) 527
C) 493
D) 525
E) 428

View Answer
Option B
Explanation:
6724 — 5041 — 1156 = 527

3. V6561 +13 x32 - 784 +14=x
A) 31
B) 39
C)21
D) 29
E) 19

View Answer
Option C

Explanation:

81 + 416 — 56 = 441

4. 768 +12 + 1332 +18-728 + 13 =X

A) 82
B) 88
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C) 76
D) 71
E) 67

View Answer
Option A

Explanation:

64 + 74 — 56 =82

5, 65% of 260 + 14% of 450 — 12 x 17 = X
A) 19
B) 14
C) 47
D) 28
E) 34

View Answer
Option D

Explanation:

169 + 63 — 204 = 28

6. 54% of 650 — 1050 = 14 — 1118 + 13=x
A) 159
B) 190
C) 173
D) 186
E) 163

View Answer
Option B

Explanation:

351 -75-86=190

7. 1105 + 13 — 4.8% of 250 — 6.4% of 350 = x
A) 61.4
B) 52.5
C)43.8
D) 58.0
E) 50.6

View Answer
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Option E
Explanation:
85-12-22.4=50.6

8. V5476 —5.6% of 250 — 4.8% of 450 = x
A) 43.9
B) 37.7
C) 23.2
D) 29.5
E) 38.4

View Answer
Option E

Explanation:

74-14-21.6=38.4

9. 35% of 580 + 28% of 250 — 32% of 450 = X
A) 251
B) 146
C) 137
D) 129
E) 239

View Answer
Option D

Explanation:

203 +70-144 =129

10.  35% of 420 — 26% of 150 — 18% of 350 = x
A) 45
B) 23
C) 37
D) 32
E) 28

View Answer
Option A

Explanation:

147 -39 -63 =45

Directions: What value should come in place of the x in the following questions?
1. 35% of 520 — 16% of 650 — 684 + 19 = x
A) 46

B) 25
C) 53
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D) 42
E) 29

View Answer
Option D

Explanation:

182 -104-36=42

2. 35% of 420 — 2/9 x 576 + 15% of 380 = x
A) 76
B) 47
C) 87
D) 98
E) 69

View Answer
Option A

Explanation:

147 -128 +57 =76

3. 26% of 750 — V841 — 24% of 450 = x
A) 68
B) 76
C) 54
D) 58
E) 38

View Answer
Option CD

Explanation:

195-29-108 =58

4. 598 + 26 + 32% of 750 — 24 x 13 = x
A) -41
B) -49
C) -36
D) -54
E) -62

View Answer
Option B

Explanation:

23 +240-312 = -49
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5. 13 x 47 — 7225 — 38% of 450= x
A) 212
B) 262
C) 355
D) 445
E) 337

View Answer
Option C

Explanation:

611 -85-171=2355

6. 16% of 350 — 9 x 26 + 523 = x
A) 345
B) 225
C) 420
D) 315
E) 290

View Answer
Option A

Explanation:

56 — 234 + 523 = 345

7. 3192 + 56 + V7569 — 16 x 13 = x
A) -25

B) -58

C) -43

D) -64

E) - 38

View Answer
Option D

Explanation:

57 + 87 - 208 = -64

8. 13 x 34 — 1377 + 51 — V1369 = x
A) 416
B) 324
C) 365
D) 405
E) 378

View Answer
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Option E
Explanation:
442 —27—-37 =378

9. 28% of 650 — 1088 = 17 = x
A) 118
B) 156
C) 128
D) 141
E) 109

View Answer
Option A

Explanation:

182 -64 =118

10.  48% of 650 — 1092 + 13 = x
A) 267
B) 411
C) 365
D) 392
E) 228

View Answer
Option E

Explanation:

312 -84 =228

Directions: What value should come in place of the x in the following questions?

1. 15% of 920 — 26% of 550 + 408 + 17 = x
A) 16
B) 25
C) 28
D) 32
E) 19

View Answer
Option E

Explanation:

138 -143+24=19

2. 45% of 2020 — 3/7 x 1092 — 15% of 420 = x
A) 326
B) 147
C) 287
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D) 378
E) 239

View Answer
Option D

Explanation:

909 — 468 — 63 = 378

3. 15% of 920 — V841 + 25% of 580 = x
A) 198
B) 276
C) 254
D) 146
E) 138

View Answer
Option C

Explanation:

138 - 29 + 145 =254

4, 621 + 23 + 28% of 750 — 23 x 13 = X
A) - 41

B) - 48

C) -36

D) -54

E) -62

View Answer
Option E

Explanation:

27 +210-299 = -62

5. 27 x 49 — 7225 — 36% of 350= x
A) 1112
B) 1262
C) 1098
D) 1045
E) 1137

View Answer

Option A
Explanation:
1323 -126 — 85 =1112
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6. 269 of 3450 — 8 x 34 — 645 = x
A) -30
B) -25
C) -20
D) -15
E) -10

View Answer
Option C

Explanation:

897 -272 — 645 = -20

7. 3528 + 56 + V7569 — 14 x 12 = x
A) -25

B) -18

C) -23

D) -15

E)-28

View Answer
Option B

Explanation:

63 + 87— 168 =-18

8. 12 x 39 — 1326 + 51 — V1369 = x
A) 416
B) 324
C) 365
D) 405
E) 438

View Answer
Option D

Explanation:

468 — 26 — 37 = 405

9. 24% of 750 — 1197 + 19 = x
A) 117
B) 156
C) 128
D) 141
E) 109

View Answer
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Option A
Explanation:
180 - 63 =117

10.  78%0f 650 — 41472+ 48 + 9 =X
A) 267
B) 411
C) 365
D) 392
E) 279

View Answer
Option B

Explanation:

507 - 96 =411

Directions: What value should come in place of the x in the following questions?

1. V3969 — 45% of 340 + 936 + 13 = x
A)-18
B) -15
C) -34
D) -24
E) -6

View Answer
Option E
Solution:

63 -153 +72=-18

2. 882 + 14 — 35% of 280 + 3380 + 52= X
A) 43
B) 68
C) 76
D) 50
E) 30

View Answer
Option DE
Solution:

63 -98 + 65 =30

3. V(58% of 1450) — 16% of 650 + V7396= x
A) 18
B) 27
C) 20
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D) 11
E) 36

View Answer

Option D

Solution:

V841 104+ 86 =29 104 +86 =11

4. 15 x 23 — 18% of 1150 = x
A) 187
B) 138
C) 133
D) 129
E) 156

View Answer
Option B
Solution:

345 -207 =138

5. V3364 — 1164 + 12 + V(42% of 1050) = x
A)-11

B) -14

C)-9

D) -25

E) -18

View Answer
Option E
Solution:

58 —97 +21 =-18

6. 1235 + 19 — 15% of 580 + V3364 = x
A) 11
B) 17
C) 36
D) 25
E) 46

View Answer
Option C
Solution:

65— 87 + 58 =36
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7. 15 x 19 — 938 + 14 — 12% of 250= x
A) 188
B) 125
C) 119
D) 225
E) 203

View Answer
Option A
Solution:

285 - 67 —30 =188

8. 13 x 26 — 1196 + 26 = X
A) 161
B) 292
C) 334
D) 257
E) 127

View Answer
Option B
Solution:
338 - 46 =292

9. 59% of 1600 — 1022 + 14 = X
A) 789
B) 529
C) 913
D) 871
E) 676

View Answer
Option D
Solution:

944 - 73 =871

10. 52% of 350 — V6084 = x
A) 83

B) 95

C) 87

D) 122

E) 104

View Answer
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Option E
Solution:
182 - 78 =104

Directions: What value should come in place of the x in the following questions?

1. 25% of 720 + V6084 — 12 x 16 = X
A) 61
B) 78
C) 73
D) 54
E) 66

View Answer
Option E

Solution:

180 + 78 — 192 = 66

2. 45% of 360 + 1008 + 12 — 1248 + 13 = X
A) 143
B) 168
C) 176
D) 150
E) 158

View Answer
Option D
Solution:

162 + 84 - 96 = 150

3. 37:— 23 x 46 — 26% of 350 = X
A) 278
B) 240
C) 220
D) 217
E) 236

View Answer

Option C

Solution:

1369 — 1058 — 91 = 220

4. 15% of 620 + 22% of 550 — 1235 + 19 = X
A) 187
B) 149
C) 133
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D) 129
E) 156

View Answer
Option B

Solution:

93+ 121 -65=149

5. V3364 + 896 + 14 — 15% of 580 = x
A) 61
B) 84
C) 39
D) 45
E) 35

View Answer
Option E
Solution:

58 +64 - 87 =35

6. 46% of 650 — 13 x 26 + 1196 + 26 = X
A) 11

B) 7

C) 19

D) 25

E) 46

View Answer
Option B
Solution:

299 -338+46=7

7. V4624 + 1118 + 13 — (13)2 = x
A) -15

B) -8

C)-19

D) -25

E) -21

View Answer
Option A
Solution:

68 + 86 — 169 = -15
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8. V3721 + 5184 — V5776 = x
A) 61
B) 78
C) 34
D) 57
E) 27

View Answer
Option D
Solution:
61+72-76=57

9. (65% of 260 + 15% of 580) + 1022 + 14 =x
A) 89

B) 329

C) 213

D) 165

E) 76

View Answer
Option A
Solution:

V(169+87) + 73 = 16 + 73 = 89

10. 85% of 160 — 52% of 350 + 68 = x
A) 83
B) 45
C) 67
D) 22
E) 34

View Answer
Option D
Solution:

136 —182 + 68 =22

Directions: What value should come in place of the x in the following questions?

1. 12x29-728+ 13 —32% of 350 = x
A) 173
B) 191
C) 187
D) 176
E) 180
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View Answer
Option E

Explanation:

348 - 56 - 112 =180

2. 1344 + 14 + V4761 — 18% of 650 = x
A) 39
B) 43
C) 52
D) 48
E) 34

View Answer
Option D

Explanation:

96 +69 - 117 =48

3. 38% of 250 — 45% of 240 + 23 x 17 = X
A) 378
B) 234
C) 256
D) 287
E) 309

View Answer
Option A

Explanation:

95-108 + 391 =378

4. 12 x 17 - 819+ 13- 1134+ 18 =X
A) 85
B) 78
C) 69
D) 63
E) 92

View Answer
Option B

Explanation:

204 -63-63= 78

5. 1105 = 13 + V1849 — 12% of 250 = x
A) 57
B) 45
C) 98
D) 87
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E) 81

View Answer
Option C

Explanation:

85 +43-30=098

6. 48% of 650 — 1105+ 13 — 13 x 28 = x
A) -103

B) -96

C) -128

D) -212

E) -137

View Answer
Option e

Explanation:

312 -85-364 =-137

7. 16 x 23 — 546 + 14 — 15% of 520 = X
A) 288
B) 251
C) 290
D) 213
E) 237

View Answer
Option b

Explanation:

368 -39 -78 =251

8. 52% of 1050 — V4761 — 1248 + 13 = x
A) 381
B) 254
C) 288
D) 309
E) 348

View Answer
Option A

Explanation:

546 — 69 — 96 = 381

9. 1204 + 14 + 768 + 12 —\1764 = x
A) 116

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

B) 91
C) 98
D) 123
E) 108

View Answer
Option E

Explanation:

86 + 64— 42=108

10. 45% of 240 + 23: — 52% of 1350 = x
A) -23
B) -98
C) -43
D) -65
E) -56

View Answer

Option D
Explanation:
108 + 529 — 702 = -65

Directions: What value should come in place of the x in the following questions?

1. 45% of 360 + V6084 — 9 x 23=x
A) 39
B) 56
C) 19
D) 27
E) 33

View Answer
Option E

Explanation:

162 + 78 — 207 = 33

2. 38% of 350 — 936 = 13 + 672 = 56 = X
A) 73
B) 89
C) 53
D) 68
E) 41

View Answer
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Option A
Explanation:
133-72+12=73

3. V2025 + 1575+ 63 — 46 =X
A) 27
B) 35
C) 24
D) 40
E) 14

View Answer
Option C

Explanation:

45+ 25-46=24

4, 48 x 9 — 15% of 620 — 85% of 360 = x
A) 50
B) 33
C) 26
D) 61
E) 44

View Answer
Option B

Explanation:

432 - 93 -306 = 33

5. 26% of 450 — (25% of 6300) ~ 35 =x
A) 99

B) 86 x =+

C) 80

D) 77

E) 72

View Answer
Option E
Explanation:
117 — (1575)/35 =117 -45=172

6. V2209 — 45% of 340 + 1204 + 14 = X
A) -50
B) -10
C) -40
D) -30
E) -20
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View Answer
Option E

Explanation:

47 -153 +86=-20

7. 35% of 280 — 936 + 13 + 3380 = 52 = X
A) 85

B) 91

C) 103

D) 149

E) 81

View Answer
Option B

Explanation:

98-72+65= 91

8. V1849 — 48% of 150 + 45% of 240
A) 105

B) 98

C) 83

D) 79

E) 61

View Answer
Option D

Explanation:

43-72 +108=79

9. 25% of 620 — 65% of 380 + 97 = X
A)5
B) 8
C)6
D) 4
E)9

View Answer
Option A

Explanation:

155 -247+87=5

10. V2916 + 13 x 28 — 16 x 24 = X

A) 55
B) 58
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C) 34
D) 49
E) 61

View Answer
Option C

Explanation:

54 +364-384 =34

Directions: What value should come in place of the x in the following questions?

1. 25% of 620 + 35% of 540 — 65% of 380 = X
A) 108
B) 56
C) 149
D) 97
E) 83

View Answer
Option D

Explanation:

155 + 189 — 247 =97

2. V2209 + V2401 — V3969 = x
A) 45
B) 29
C) 33
D) 38
E) 41

View Answer
Option C

Explanation:

47 +49 - 63 = 33

3. 1204 + 14— 45% of 340 + 882 + 14 = x
A)7

B) 5

C) -6

D) 10

E) -4

View Answer
Option E

Explanation:

86 — 153 + 63 =-4

4. 23— 19 — 35% of 280 = x
A) 70
B) 83
C) 76
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D) 67
E) 64

View Answer
Option A

Explanation:

529-361-98=70

5, 22% of 650 — 936 + 13 + 189 = X
A) 249
B) 236
C) 280
D) 277
E) 260

View Answer
Option E

Explanation:

143 - 72 + 189

6. 523 — 65% of 360 — 45% of 520 = x
A) 55
B) 58
C) 43
D) 49
E) 61

View Answer
Option A

Explanation:

523 -234-234 =55

7. 35% of 420 — 3380 + 52 = x
A) 57
B) 82
C) 65
D) 61
E) 77

View Answer
Option B

Explanation:

147 — 65 =82

8. V2916 — 45% of 240 + 35% of 360 = 18x
A) 35

B) 3

C)4

D) 4.5

E) 6

View Answer
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Option C
Explanation:
54 -108 + 126 =72 =18*4

9. 13 x 28 — V1849 — 938 + 14 = x
A) 230
B) 248
C) 288
D) 276
E) 254

View Answer
Option E

Explanation:

364 — 43 -67 = 254

10. 16 x 241020 + 12 — 48% of 150 = x
A) 198
B) 265
C) 227
D) 277
E) 182

View Answer
Option C

Explanation:

384-85 -72= 227

Directions: What approximate value should come in place of the x in the following questions?

1. 36.06% of 449.95 + V3140 — 17.96 x 12.92
A) -34
B) -12
C) -36
D) -16
E) -23

View Answer
Option D

Solution:

162 + 56 — 234 =-16

2. V2900 + 126.07% of 350.09 — 23.06 x 15.93 = X
A) 153
B) 187
C) 126
D) 118
E) 134
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View Answer
Option C

Solution:

53 + 441 — 368 = 126

3. (52.04% of 650.002 + 88.902 x 16.08) — 495 + 13
A) 17

B) 11

C) 10

D) 8

E) 4

View Answer

Option E
Solution:
V(338+1424)-38=42-38=4

4. 830 + 16 — 34.09% of 450.03 + 44.99% of 280 = X
A) 25
B) 29
C) 37
D) 33
E) 40

View Answer
Option A

Solution:

52 - 152+ 126 =25

5, 825 + 14— 635 + 12.02 + 20.09% of 370 = X
A) 48
B) 80
C) 89
D) 76
E) 70

View Answer
Option B

Solution:

59 -53+74=80

6. V6090 + 47.98% of 550.09 — 52.05% of 349.90 = X
A) 160
B) 170
C) 180
D) 130
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E) 150

View Answer
Option A

Solution:

78 + 264 — 182 =1 60

7. 46.02% of 150.099 — 7130 + 12.009 + 8.98 = X
A)5

B) 0.5

C)3

D)8

E) 11

View Answer
Option C

Solution:

69-66=3

8. 765 + 13.02 x 15.09 — (12+14.009)% of 649.93 — 239.09 = X
A) 477
B) 428
C) 376
D) 419
E) 391

View Answer
Option A
Solution:
885 — 169 — 239 = 477

9. 85.09% of 259.99 — 11.88 x 17.09 +85.918 = X
A) 96

B) 189

C) 86

D) 103

E) 116

View Answer
Option D

Solution:

221 — 204 + 86 = 103

10.  18.09 x 14.87 — 14 x 13 —\2400 = x
A) 28
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B) 41
C) 36
D) 45
E) 39

View Answer
Option E

Solution:

270-182-49 =139

Directions: What approximate value should come in place of the x in the following questions?

1. 26.02 x 36.99 + 3200 + 68 — 36% of 650 = ?
A) 775
B) 561
C) 265
D) 761
E) 628

View Answer
Option A

2. V2800 + 38.09% of 749.99 — 35% of 860.009 = ?
A) 26
B) 77
C) 37
D) 25
E) 28

View Answer
Option C

3. 3020 + 9 + 6 + 66% of 250 — V6245 = ?
A) 284
B) 398
C) 276
D) 233
E) 142
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View Answer
Option E

4. 2050 + 89 + 162% of 350 — 65% of 360 = ?
A) 273
B) 356
C) 176
D) 271
E) 367

View Answer
Option B

5, 56: + 17.89 x 29.09 — 5960 + 23 = ?
A) 3469
B) 3399
C) 2887
D) 3137
E) 2060

View Answer
Option B

6. 46.05% of 350.009 + 885 + 13 — 12.99 x 16.09 = X
A) 19
B) 11
C) 33
D) 26
E) 21

View Answer
Option E

7. V1160 — 27.89% of 250.009 + 670 + 12 = x
A) 31
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B) 12
C) 23
D) 20
E) 38

View Answer
Option D

8. 47.99% of 450 — 1120 + 26 — 18.04% of 649.93 = X
A) 13
B) 77
C) 43
D) 56
E) 47

View Answer
Option C

9. 13.09 x 28.909 — 32% of 350 — V7400 = x
A) 151
B) 179
C) 137
D) 141
E) 119

View Answer
Option B

10.  15x 39.09 — 35.08% of 1119.99 — 129.09 = x
A) 69
B) 56
C) 64
D) 42
E) 48

View Answer
Option C
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1. 59% of 1600 + 26% of 450 — 17 x 24 = X
A) 653
B) 561
C) 265
D) 761
E) 628

View Answer
Option A

2. (86): — (73) — (36): = X
A) 376
B) 771
C) 893
D) 725
E) 628

View Answer
Option B

3. V6561 + 12 x 29 — 1248 + 13 = X
A) 284
B) 398
C) 276
D) 333
E) 319

View Answer
Option D

4. 792+ 12+ 1134+ 18 - 728 + 13 =X
A) 73
B) 81
C) 76
D) 71
E) 67

View Answer
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Option A

5, 85% of 460 — 24% of 350 — 13 x 19 = X
A) 69
B) 54
C) 87
D) 37
E) 60

View Answer
Option E

6. 74% of 250 — 826 + 14 — 819 + 13= X
A) 59
B) 81
C)73
D) 86
E) 63

View Answer
Option E

7. 5.6% of 250 + 6.4% of 350 + 4.8% of 450 = x
A) 61.4
B) 52.5
C)43.8
D) 58.0
E) 48.6

View Answer
Option D

8. 4.8% of 250 + 1105 + 13 — V5476 = x
A) 43
B) 37
C) 23
D) 29
E) 47
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View Answer
Option C

9. 15% of 620 + 18% of 350 — 18% of 650 = x
A) 51
B) 46
C) 37
D) 41
E) 39

View Answer
Option E

10.  2(1/3) +4 (2/5) - 5 (4/15) = x
A) 11/15

B) 8/15

C) 1 (7/15)

D) 1 8/15

E)13/5

View Answer
Option C

1. 18% of 1150 + 12% of 250 — 35% of 420 = x
A) 108
B) 90
C) 92
D) 77
E) 95

View Answer
Option B

2. 85: — 76 — V7569 = X
A) 1362
B) 1287
C) 1203
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D) 1328
E) 1376

View Answer
Option A

3. 58% of 650 + 897 + x — 62% of 750 = -19
A) 21
B) 13
C)14
D) 16
E) 23

View Answer
Option B

4, 1344 + 14— 16% of 650 + V7396 = x
A) 46
B) 87
C) 67
D) 78
E) 51

View Answer
Option D

5, X% of 6200 + 12 x 26 — 58% of 1450 = 649
A) 41
B) 19
C) 36
D) 29
E) 21

View Answer
Option B
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6. Vx + 18% of 250 — 15% of 960 = -25
A) 5476
B) 5824
C) 5762
D) 5776
E) 5526

View Answer
Option A

7. —N7921 + 1102 19+ 15 x 23 =x
A) 261
B) 256
C) 314
D) 362
E)3 57

View Answer
Option C

8. 85% of X — 4344 + 12 - 13 x 28 = 90
A) 580
B) 380
C) 620
D) 960
E) 240

View Answer
Option D

9. 48% of 650 — 1105 + 13 — 45% of 240 = 7x
A) -48
B) 22
C) 13
D) 17
E) -21

View Answer

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

Option D

10.  52%o0f 1050 — 14 x 29 — 1164 + 12 = x
A) 29
B) 38
C) 45
D) 41
E) 43

View Answer
Option E

Directions: What value should come in place of the x in the following questions?

1. 65% of 1260 + V4489 — 16 x 27 = X
A) 498
B) 454
C) 392
D) 377
E) 325

View Answer
Option B

2. 26 x 19 + 23: — 529 of 1350 = x
A) 321
B) 287
C) 203
D) 328
E) 376

View Answer
Option A

3. 12% of 650 — 728 + X + 24% of 450 = 130
A) 18
B) 13
C) 14
D) 16
E) 17
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View Answer
Option B

4. 1344 + 14 + 4 x 34 — 35% of 540 — 45% of 1320 = X
A) 46
B) 87
C) 67
D) 33
E) 51

View Answer

Option D
1344*34/14*4 — 35% of 540 — 45% of 1320 = x
816 — 189 — 594 = 33

5, Vx x 12 — 26% of 1650 — 13 x 34 = -19
A) 2401
B) 2119
C) 3136
D) 5329
E) 5041

View Answer
Option E

6. 882 + 14 + 1248 + 13 — 1392 + 16 = X% of 450
A) 16
B) 12
C) 18
D) 22
E) 26

View Answer
Option A

7. V3136 + V3844 — V3481 = x
A) 61
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B) 56
C) 59
D) 62
E) 57

View Answer
Option C

8. 28% of X — 1105 = 13 + 156 + 6 = 67
A) 550
B) 350
C) 650
D) 450
E) 250

View Answer
Option D

9. V2401 + V4761 — 18% of 650 = x
A) -1

B) 2

C)3

D) -2

E)1

View Answer
Option E

10.  38% of 250 — 85% of 560 + 13 x x = 61
A) 29
B) 38
C) 45
D) 41
E) 34

View Answer
Option E
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Directions: What value should come in place of the x in the following questions?

1. 36% of 1350 — 15 x 19 — 15% of 260 = x
A) 128
B) 162
C) 139
D) 117
E) 108

View Answer
Option B

2. 1615 + 19 — 12 x 27 + 45% of 1240 = x
A) 158
B) 276
C) 319
D) 483
E) 349

View Answer
Option C

3. 53: — 65% of 1380 — 948 + x = 1833
A) 18

B) 4

C) 15

D) 12

E) 24

View Answer
Option D
Solution:

4. 26% of 850 — 18% of 450 — V4356 = x
A) 99
B) 56
C) 87
D) 72
E) 74
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View Answer
Option E

5. Vx % of 350 + 52% of 450 — 23 x 17 = 130
A) 3758
B) 6724
C) 5636
D) 8542
E) 4728

View Answer
Option B

6. 46— 1638 + X — 14 x 29 = 945 + 639
A) 13

B) 24

C)23

D) 29

E)9

View Answer
Option A

7. 32% of x —12 x 17 — 546 + 14 =-35
A) 520
B) 410
C) 390
D) 650
E) 330

View Answer
Option D

8. V(42% of 1050) + 768 ~ 16 — 636 + 12 = x
A) 19
B) 17
C) 16
D) 18
E) 13
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View Answer
Option C

9. (9.6% of 250 + 4.8% of 750)% of 1920 — 897 = x
A) 217
B) 206
C) 157
D) 255
E) 115

View Answer
Option D

10. V1156 + V3025 + x% of 650 = 167
A) 22
B) 28
C) 16
D) 12
E) 26

View Answer
Option D

Directions: What value should come in place of the x in the following questions?

1. 26% of 650 + V784 — 16 x 13 = X
A) -28
B) -11
C) -39
D) -17
E) -8

View Answer
Option B

569 — 35% of 460 — 25 x 14 = X
A) 58
B) 76
C) 35
D) 83
E) 49
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View Answer
Option A

2. V1156 % of 650 — 18 x 23 + 2686 + 17 = X
A) -39
B) -24
C)-35
D) -44
E) -54

View Answer
Option C
Solution:

3. x% of 350 + V1369 — 35% of 240 = 219
A) 99
B) 56
C) 87
D) 72
E) 76

View Answer
Option E

4, 19 x 28 + 1638 = 26 — 36% of x = 181
A) 1750
B) 1150
C) 1630
D) 1540
E) 1720

View Answer
Option B

5, 2898 + x — 45% of 420 + 19 x 13 = 16% of 1150
A) 57
B) 34
C)23
D) 29
E) 62
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View Answer
Option C

6. 18% of 350 + 39 x 16 — 3760 + 16 = X
A) 527
B) 414
C) 398
D) 452
E) 334

View Answer
Option D

7. 51: — 56% of 750 — 629 = X
A) 1924
B) 1776
C) 1552
D) 1822
E) 1628

View Answer
Option C

8. V2916 + 38% of 450 — 12 x x = 21
A) 17

B) 26

C)7

D) 33

E) 15

View Answer
Option A

9. 3969 + 4489 + x% of 650 = 338
A) 56
B) 28
C) 36
D) 32
E) 44
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View Answer
Option D

70% of 620 — 2% of 850 = 204
A) 21.056
B) 24.152
C) 27.056
D) 23.144
E) 22.264

View Answer

Option C
Solution:
434 — ?% of 850 = 204
=>230 = ?% of 850
=>(1230 *100)/850 = ?
=>27.056 =?

2. 8073.7 / 8071.22 = 8077
A) 4.22
B) 4.02
C)2.55
D) 3.65
E) 2.48

View Answer
Option E
Solution:
801(3.7-1.22) = 80"?
=>7=248

3. 15.6% of 525 — 8% of ? = 15.52
A) 775.23
B) 829.75
C) 785.15
D) 825.13
E) 880.32

View Answer
Option B
Solution:
81.9 — 15.52 = (66.38*100)/8 = 829.75 = ?

4. 8520 + 210 — 9783 + 1225 =72 * 16
A) 13.55
B) 11.23
C)10.75
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D) 12.15
E) 10.19

View Answer
Option C
Solution:
172=2*16
=>?=10.75

5, 4(1/6) + 3(L/7) — 2 (4/6) +5(2/7) =72
A) 6(12/17)
B) 9(13/14)
C) 8(11/13)
D) 7(11/12)
E) 8(12/15)

View Answer

Option B
Solution:
25/6 + 22/7 — 16/6 + 37/7
=9/6 + 59/7
= (63 + 354)/42
=9(13/14)

6. 56421 — 32047 + 29500 — 890 = ? + 5720
A) 47,264
B) 42,125
C) 42,500
D) 43,000
E) 41,230

View Answer
Option A
Solution:
85,921 — 32,937 =? + 5720
=52,984 - 5720 = 47,264

7. 33.45 % of 720 =? — 3504
A) 3,256.45
B) 3,744.84
C) 3,214.51
D) 3,255.45
E) 3,254.64

View Answer
Option B

Solution:

240.84 =? — 3504

=>7=3,744.84

8. \V? + 20 =2704
A) 1144
B) 1024
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C) 1150
D) 1020
E) 1200

View Answer
Option B
Solution:
\V?2=52-20=232
?=1024

9. (81)"6 * (32 / (27)" = (3)"?
A) 6
B) 9
C) 4
D) 7
E)5

View Answer
Option E
Solution:
(3)"24* (3)"(-19) = (3)"?
=24-19=5

10.  (5/8)*5664 + (2/11)*6457 =?
A) 4455
B) 4125
C) 4714
D) 4500
E) 4214

View Answer

Option C
Solution:
(5/8)*5664 + (2/11)*6457
=5*708 + 2 * 587
=3540 + 1174 = 4714

Directions: What approximate value should come in place of the x in the following questions? (You
are expected to do approximations)

1. 60.09% of 2535.112 + 831.94 + 13 — 34: = x
A) 303
B) 345
C) 388
D) 457
E) 429

View Answer
Option E

Solution:

60% of 2535 = 1521
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832 + 13= 64
—34:=-1156

2. V1765 + 1010 + 14 — 64% of 250 = x
A) -46

B) -26

C) 32

D) -33

E) 39

View Answer
Option A

Solution:

V1765 = 42

1010 +14=72

— 64% of 250 = 160

3. 795.009 + 15.234 + 768.123 + 12.099 + 63.98 + 4 — 1272.985 + 19.195 = X
A) 62
B) 66
C) 75
D) 81
E) 78

View Answer
Option B

Solution:

795 +15=53

768 + 12 =64

64 +-4=16

- 1273 +19 =-67

4, Vx + 36.09% of 350 — 16.009 x 22.897 = -(14):
A) 2068
B) 2025
C) 2749
D) 2116
E) 2209

View Answer
Option D

Solution:

36% of 350 = 126

16*23 = 368

-(14): = -196
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s0 Vx = -196 — 126 + 368 = 46
So, x = 2116

5, 18% of 649.99 — 945 + 16 + 456.23 = x
A) 514
B) 578
C) 334
D) 424
E) 488

View Answer
Option A

6. X% of (6750 + 15) — 12.12 x 16.16 = 116.99 — 23.99% of 649.891
A) 22
B) 45
C) 34
D) 32
E) 48

View Answer
Option C
Solution:
x% of 450 — 192 =117 — 156
x% of 450 = 153
X =34

7. 58.09% of 1250 + 27.992% of 449.90 = X
A) 845
B) 715
C) 890
D) 765
E) 850

View Answer
Option E

8. X% of 4860 — 459.08 + 26.06% of 1350 = 2565.299
A) 55
B) 35
C) 64
D) 60
E) 63

View Answer
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Option A
Solution:
X% of 4860 = 2565 + 459 — 351
x% of 4860 = 2673
X = 26730/486 = 55

9. (23): — 24.069 x 15.992 + 15.99% of 550 = X
A) 409
B) 276
C) 233
D) 308
E) 205

View Answer
Option C

10. V1025 + V1370 + 28% of 750 = x
A) 372
B) 234
C) 335
D) 279
E) 235

View Answer
Option D

Directions: What value should come in place of the x in the following questions?

1. (V5=~10y+ (N2 +5p=x—22
A)3
B)5
C)8
D) 7
E) 4

View Answer
Option E
Solution:
(V5 = V10): = V5 + V10: — 2%V5%V10 = 5 + 10 — 2%5%\2*V5 = 15 — 10\2
(N2 +5)8=2+25+10V2
S015—10V2 +27 + 10V2 = x:— 22
15+27+22 = x:

2. 55% of V2116 =+ 0.01 = x x 20
A) 1245
B) 126.5
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C) 132.5
D) 133.5
E) 139.5

View Answer
Option B
Solution:
55/100 * 46/0.01 = 20x
55 * 46 = 20x

3. V(12: x 16 + 24 + 193 + 7 x 5) = x:
A) 3\2

B) 212

C) 4\2

D) 52

E) None of these

View Answer
Option A
Solution:
12*12*16/24 = 96
193+7x5=193+35=228

V(96+228) = x:
18 = x

4. V31.36 + V0.64 x 252 = x: x 36
A) 11
B) -8
C) 49
D) 81
E) -7

View Answer
Option E

Solution:

5.6/0.8 * 252 = x:x 36

x2=49

5, (1.69): + (2197 = 1000)° x (0.13 x 10) = (1.3)-
A) 2
B) 5
C)3
D) 4
E)0
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View Answer
Option D
Solution:
(1.69): =(1.3)
(2.197): = (1.3)
(1.3):/ (1.3 * (1.3): = (1.3
(1.3):=(1.3)=
2=X-2,50x=4

Directions: What approximate value should come in place of the x in the following questions? (You
are expected to do approximations)

6. 68% of 1288 + 26% of 734 — 215 = x
A) 820
B) 850
C) 735
D) 825
E) 780

View Answer
Option B
Solution:
68% of 1288 + 26% of 734 — 215 =x
875.84 + 190.84 — 215 =852

7. (32.05) — (18.9) — (11.9) = X
A) 545
B) 615
C) 690
D) 665
E) 530

View Answer
Option E
Solution:
1027 — 357 — 144 =526

8. 6578 +67 x15=xx%x6
A) 320
B) 250
C) 340
D) 200
E) 230
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View Answer
Option B

Solution:

6578*15/67*6 = 250

9. 679/45 + 23/2130 x 126/169 = X
A) 1090
B) 1060
C) 1040
D) 1080
E) 1050

View Answer
Option C
Solution:
680/45 * 2130/23 * 126/169 = 1043

10. V5687 x V1245 + V689 = x + 13
A) 1320
B) 1340
C) 1305
D) 1365
E) 1345

View Answer
Option A
Solution:
74.4*35.2 *13/26.2 = 1320
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